Adr: MATEMATIK DERSI 4

Soyadi:
Sinifi:4/B No:

OGRENDIKLERIMizi PEKIiSTIRELIM

1) 6A8B - 48C5= 1707 isleminde
A=?
B="?
Cc=?

2) 6A9B + 26C8= 8980 isleminde
A=?
B="
Cc=?

3) A1B2 - 2C32= 980 isleminde
A=?
B="
C="?

4) A2B2 + 1C78= 3970 isleminde
A=?
B="
C="?

5)A29B + 23C3= 6614 isleminde
A=?
B="?
C="?

6) A54B - 12C5= 1289 isleminde
A=?
B="?
c=?

7) 4A51 - B4C4= 2907 isleminde
A=?
B="?
Cc=?

8) 2A29 + B2C4= 4223 isleminde
A=?
B="?
C=?

9) 8A8B - 41C8= 4451 isleminde
A=?
B="?
C=?

10) 2A9B + 21C9= 4314 isleminde
A=?
B="?
C=?

SINIF



Adr: MATEMATIK DERSI 4

Soyadi:

Sinifi:4/B No: OGRENDIKLERIMizi PEKIiSTIRELIM SINIF

1) 3A9B + 36C5= 6986 isleminde
A=?
B="?
Cc=?

2)9A72 - B4C6= 7836 isleminde
A=?
B="
Cc=?

3) A6B6 - 6C68= 1248 isleminde
A=?
B="
C="?

4) 6A23 + B7C5= 8968 isleminde
A=?
B="?
C=?

5)A2B2 + 3C99= 9231 isleminde
A=?
B="?
C="?

6) 6A8B - 15C3= 4600 isleminde
A=?
B="?
c=?

7) 4A3B + 34C1l= 7666 isleminde
A=?
B="?
Cc=?

8) A21B + 12C4= 7475 isleminde
A=?
B="?
C=?

9) 5A1B - 22C4= 3679 isleminde
A=?
B="?
C=?

10) A27B - 69C3= 2348 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:

Sinifi:4/B No: OGRENDIKLERIMizi PEKIiSTIRELIM SINIF

1) A1B5 + 3C79= 7404 isleminde
A=?
B="?
C=?

2) A52B + 18C9= 9358 isleminde
A=?
B="
Cc=?

3) A4AB3 - 1C23= 7370 isleminde
A=?
B="
C="?

4) 5A35 + B5C3= 7258 isleminde
A=?
B="?
C=?

5) A35B - 55C8= 1818 isleminde
A=?
B="?
C="?

6) 8A9B - 75C6= 1212 isleminde
A=?
B="?
c="?

7) 2A5B + 21C2= 4320 isleminde
A=?
B="?
C=?

8) 7A7B - 26C7= 4747 isleminde
A=?
B="?
C=?

9) 2A4B + 55C7= 8218 isleminde
A=?
B="?
C=?

10) 2A21 - B7C4= 1157 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:

Sinifi:4/B No: OGRENDIKLERIMizi PEKIiSTIRELIM SINIF

1) 5A54 + B6C3= 7417 isleminde
A=?
B="?
C=?

2) 7ZA5B + 19C6= 9894 isleminde
A=?
B="
Cc=?

3) 7A7B - 14C4= 5935 isleminde
A=?
B="
C="?

4) A6B6 + 3C81= 6827 isleminde
A=?
B="
C="?

5) 5A54 - B5C8= 816 isleminde
A=?
B="?
C="?

6) A85B + 29C1= 8783 isleminde
A=?
B="?
c=?

7) 8A1B - 59C3= 2855 isleminde
A=?
B="?
Cc=?

8) A15B - 25C1= 4573 isleminde
A=?
B="?
C=?

9) 7ZA9B + 19C1= 9433 isleminde
A=?
B="?
C=?

10) A1B3 - 3C73= 2790 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:
Sinifi:4/B No:

OGRENDIKLERIMizi PEKIiSTIRELIM

1) ZA9B - 12C5= 6299 isleminde
A=?
B="?
C=?

2)7A2B + 11C8= 9112 isleminde
A=?
B="
Cc=?

3) 2A98 + B3C3= 3831 isleminde
A=?
B=?
C=?

4) A97B - 16C9= 6344 isleminde
A=?
B="
C="?

5)A9B1 + 5C57= 9318 isleminde
A=?
B="?
C="?

6) A2B7 - 2C94= 2283 isleminde
A=?
B="?
c=?

7) 8A5B - 23C4= 6097 isleminde
A=?
B="?
Cc=?

8) 7A97 - B2C9= 5028 isleminde
A=?
B="?
C=?

9) A57B + 13C1= 7955 isleminde
A=?
B="?
C=?

10) 4A5B + 47C8= 9412 isleminde
A=?
B="?
C=?

SINIF



Adr: MATEMATIK DERSI 4

Soyadi:
Sinifi:4/B No:

OGRENDIKLERIMizi PEKIiSTIRELIM

1) 6A7B - 22C5= 4602 isleminde
A=?
B="?
C=?

2) A5B6 - 4C98= 2778 isleminde
A=?
B="
Cc=?

3) 7A2B - 51C3= 2404 isleminde
A=?
B="
C="?

4) 5A2B + 25C6= 8145 isleminde
A=?
B="
C="?

5) A79B + 27C3= 8575 isleminde
A=?
B="?
C="?

6) 4A31 - B8C4= 2797 isleminde
A=?
B="?
c=?

7) 6A6B + 16C5= 8282 isleminde
A=?
B="?
Cc=?

8) 5A18 + B2C9= 8137 isleminde
A=?
B="?
C=?

9) A92B - 32C1= 2637 isleminde
A=?
B="?
C=?

10) A1B8 + 2C76= 9164 isleminde
A=?
B="?
C=?

SINIF



. _ MATEMATIKDERS
OGRENDIKLERIMIZI PEKISTIRELIM

Soyadi:
Sinifi:4/B No:

4

SINIF

1) 5A8B - 21C6= 3652 isleminde
A=?
B="?
Cc=?

2) A3B6 - 2C92= 1744 isleminde
A=?
B="
Cc=?

3) 7A5B + 16C2= 9265 isleminde
A=?
B="
C="?

4) 1A74 + B1C8= 4492 isleminde
A=?
B="
C="?

5)A88B - 21C7= 1727 isleminde
A=?
B="?
C="?

6) ASB3 + 1C64= 8897 isleminde
A=?
B="?
c=?

7) 9A83 - B1C4= 5649 isleminde
A=?
B="?
Cc=?

8) A67B + 41C2= 7806 isleminde
A=?
B="?
C=?

9) 1A7B + 37C4= 5128 isleminde
A=?
B="?
C=?

10) 4A5B - 39C5= 393 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:

Sinifi:4/B No: OGRENDIKLERIMizi PEKIiSTIRELIM SINIF

1) A92B + 15C2= 9506 isleminde
A=?
B="?
C=?

2) A9B7 - 1C69= 7628 isleminde
A=?
B="
Cc=?

3) 4A46 - B9C5= 3021 isleminde
A=?
B="?
C=?

4) A1B6 + 3C1l1= 4377 isleminde
A=?
B="
C="?

5) A55B - 35C3= 974 isleminde
A=?
B="?
C="?

6) 1A4B + 79C8= 9547 isleminde
A=?
B="?
c=?

7) 6A5B + 27C2= 9466 isleminde
A=?
B="?
Cc=?

8) 3A1B - 21C4= 1033 isleminde
A=?
B="?
C=?

9) 1A96 + B7C7= 3343 isleminde
A=?
B="?
C=?

10) 4A4B - 12C3= 3131 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:
Sinifi:4/B No:

OGRENDIKLERIMizi PEKIiSTIRELIM

1) 3A5B + 48C1= 8500 isleminde
A=?
B="?
Cc=?

2) A3B6 - 4C64= 3362 isleminde
A=?
B="
Cc=?

3) 7A93 - B7C4= 5769 isleminde
A=?
B="
C="?

4) A98B + 19C8= 7917 isleminde
A=?
B="
C="?

5) A79B - 21C4= 3643 isleminde
A=?
B="?
C="?

6) 9A2B - 44C7= 5454 isleminde
A=?
B="?
c=?

7) 3A84 + B6C7= 8011 isleminde
A=?
B="?
Cc=?

8) 7A2B - 41C2= 3534 isleminde
A=?
B="?
C=?

9) A5B9 + 1C16= 8735 isleminde
A=?
B="?
C=?

10) 2A1B + 55C6= 8383 isleminde
A=?
B="?
C=?

SINIF



. _ MATEMATIKDERS
OGRENDIKLERIMIZI PEKISTIRELIM

Soyadi:
Sinifi:4/B No:

4

SINIF

1) 1A1B + 29C8= 4505 isleminde
A=?
B="?
C=?

2) 3A65 + B5C6= 5801 isleminde
A=?
B="
Cc=?

3) A2B2 + 1C93= 8905 isleminde
A=?
B="
C="?

4) A54B + 47C8= 6279 isleminde
A=?
B="
C="?

5) A99B - 42C7= 1760 isleminde
A=?
B="?
C="?

6) 5A7B - 22C9= 3404 isleminde
A=?
B="?
c=?

7) 6A8B - 48C5= 1800 isleminde
A=?
B="?
Cc=?

8)3A2B + 57C1= 9134 isleminde
A=?
B="?
C=?

9) 6A94 - B5C8= 5096 isleminde
A=?
B="?
C=?

10) A1B4 - 2C34= 830 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:

Sinifi:4/B No: OGRENDIKLERIMizi PEKIiSTIRELIM SINIF

1) 5A7B + 27C8= 8345 isleminde
A=?
B="?
C=?

2) A3B5 - 1C65= 6450 isleminde
A=?
B="
Cc=?

3) A77B + 39C7= 6690 isleminde
A=?
B="
C="?

4) 1A4B + 13C8= 3087 isleminde
A=?
B="
C="?

5)8A4B - 18C3= 6273 isleminde
A=?
B="?
C="?

6) 7ZA36 - B9C1= 4455 isleminde
A=?
B="?
c=?

7) A3B1 + 4C41= 8322 isleminde
A=?
B="?
Cc=?

8) 6A4B - 29C1= 3893 isleminde
A=?
B="?
C=?

9) 4A84 + BI9C5= 9949 isleminde
A=?
B="?
C=?

10) A89B - 58C3= 1070 isleminde
A=?
B="?
C=?




Adr: MATEMATIK DERSI 4

Soyadi:

Sinifi:4/B No: OGRENDIKLERIMizi PEKIiSTIRELIM SINIF

1) 6A61 + B1C7= 8018 isleminde
A=?
B="?
C=?

2) 6A6B + 22C4= 9259 isleminde
A=?
B="
Cc=?

3) A6B3 + 4C38= 5891 isleminde
A=?
B="?
C=?

4) 8A87 - B5C1= 946 isleminde
A=?
B="
C="?

5)A94B - 11C2= 2800 isleminde
A=?
B="?
C="?

6) A62B + 13C2= 9010 isleminde
A=?
B="?
c=?

7) 9A6B - 45C1= 5313 isleminde
A=?
B="?
Cc=?

8) A9B1 - 1C72= 1739 isleminde
A=?
B="?
C=?

9) 2A4B + 14C2= 3818 isleminde
A=?
B="?
C=?

10) 9A7B - 77C6= 2257 isleminde
A=?
B="?
C=?






